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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B,C, Dand E :

Tiays Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 1

Q.1 What is the difference between total number of employees present in offices C and D together on

Tuesday and total number of employees present in offices A and E together on Thursday ?
(1) 147
2 271
(3) 151
(4) 171

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899344
Option 1 ID : 42558936356
Option 2 ID : 42558936357
Option 3 ID : 42558936358
Option 4 ID : 42558936359

Status : Answered
Chosen Option: 3
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 2

Q.2 What is the average number of emplnyees present in office B on MDnday, Tuesday and Friday ?
(1) 143
(2) 159
(3) 153
4) 173
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899347
Option 1 ID : 42558936368
Option 2 ID : 42558936369
Option 3 ID : 42558936370
Option 4 ID : 42558936371

Status : Answered

Chosen Option : 1
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 3

Q3 The number of employees present in office E on Monday is what precent more than the number of
employees present in office C on Thursday ?

(1) 34.78%

(2) 21.05%

(3) 55.25%

(4) 53.33%

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899346
Option 11D : 42558936364
Option 2 ID : 42558936365
Option 3 ID : 42558936366
Option 4 ID : 42558936367

Status : Answered

Chosen Option : 4
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 4

Q.4 What is the respective ratio between total number of employees present in office B on Wednesday
and Thursday together and total number of employees present in office C on Monday and Friday
together ?
1} 113
(2 9:11
3 7:9
4 7:11
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ
4255899345
42558936360
42558936361
42558936362
42558936363
Answered

3
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 5

Q5 The number of employees present in office A on Wednesday is what percent of the number of
employees present in office D on Friday ?
7
139>
m 1393
7
71—
@ 713
2
63—
¢ 633
2
61—
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899348
Option 1 ID : 42558936372
Option 2 ID : 42558936373
Option 3 ID : 42558936374
Option 4 ID : 42558936375

Status : Answered
Chosen Option : 2
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Q6 Choose the correct statements regarding environmental incidents from the following :
Bhopal accident was due to methyl isocyanate

Hiroshima and Nagasaki incident was due to radioactivity

Bhuj incident occurred due to poison gas

Fukushima nuclear power plant incident was due to earthquake

moN® P

Chernobyl accident in Soviet Union occurred due to volcano
Choose the correct answer from the options given below :

(1) A, Band COnly

(2) A, BandD Only

(3 A C andEOnly

4) C,DandEOnly

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899387
Option 1 ID : 42558936528
Option 2 ID : 42558936529
Option 3 ID : 42558936530
Option 4 ID : 42558936531
Status : Answered
Chosen Option: 3
Q7 Arrange the following commissions /committees (in field of education) in chronolegical order :
A, GNANAM Committee
B.  Kothari Commission
C.  National Knowledge Commission
D.  MUDALIAR Commission
E.  Yashpal Committe (Advice on Renovation and Rejuvenation of Higher Education)
Choose the correct answer from the options given below :
1 DACEB
2 BDCEA
3) BDACE
4 D,BACE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899356
Option 1 ID : 42558936404
Option 2 ID : 42558936405
Option 3 ID : 42558936406
Option 4 ID : 42558936407
Status : Answered
Chosen Option : 3
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Q.8
Which one is not a type of communication modality ?
(1) Proxemics
(2) Heptics
(3) Chronotoxics
(4) Crestures
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899360
Option 1 ID : 42558936420
Option 2 ID : 42558936421
Option 3 ID : 42558936422
Option 4 ID : 42558936423
Status : Answered
Chosen Option : 4
Q'g i s = =
Verbal Association Learning’ was proposed by :
(1) Melton
(2) Thorndike
(3) Cronbach
(4) Gagne
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899375
Option 1 ID : 42558936480
Option 2 ID : 42558936481
Option 3 ID : 42558936482
Option 4 ID : 42558936483
Status : Answered
Chosen Option : 2
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Q.10 Arrange the following from higher level to lower level of scales of measurement involved in them :
A, Researcher divides the sample in two groups based on area of residence like ‘Urban’ and ‘Rural’
Area.
B. A student has got 50 marks out of 60 marks in English language test.
C. A cricketer is given tenth rank as an allrounder.
D.  The height of a particular building is double than all other buildings in a street.
Choose the correct answer from the options given below :

() D,CBA
) ABD,C
(3 CBAD
4) DBCA
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899350
Option 1 ID : 42558936380
Option 2 ID : 42558936381
Option 3 ID : 42558936382
Option 4 ID : 42558936383

Status : Answered

Chosen Option : 3
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Q.11
Arrange the following in increasing order of their values:
A. {l}.l]3
1
B, (LJA
100
¥
C. (0.005)"
b
D. (0.04)"
Choose the correct answer from the Uptinns given below :
1y ACIDEB
2) ACBD
3) D,BC.A
4 CBDA
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
4255899366
42558936444
42558936445
42558936446
42558936447
Answered

2
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sequentially :

A, Toilet training

B.  Feeding

C.  Reflections and acceptance on one’s life
D.  Love relation

E.  Peer relationships

Choose the correct answer from the options given below :

Q.12 Arrange the important events according to the Erickson’s Eight Stages of Psychosocial development

() A,C,B,D,E
(2) C.A.B.D,E
(3) B,AED,C
4 ADECB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899376
Option 1 ID : 42558936484
Option 2 ID : 42558936485
Option 3 ID : 42558936486
Option 4 ID : 42558936487
Status : Answered
Chosen Option : 3
Q.13 : ) ; o :
The decimal number eqmvalent to binary digit 110 is
L 4
@ 5
(3) 6
@ 7
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899380
Option 1 ID : 42558936500
Option 2 ID : 42558936501
Option 3 1D : 42558936502
Option 4 ID : 42558936503
Status : Answered
Chosen Option : 4
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Q.14 Which Model depicts communication asa process by which communicators send messages / feedback
simultaneously to one another ?

(1)  Socio-cultural

(2)  Socio-psychological
(3) Interactional

(4) Transactional

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899359
Option 1 ID : 42558936416
Option 2 ID : 42558936417
Option 3 ID : 42558936418
Option 4 ID : 42558936419
Status : Answered
Chosen Option : 3
Q15 Which of the following factors affect the internal validity of an experimental research ?
A, Placebo effect
B.  Instrument Decay
C. Contemporary events
D. Hawthorne effect
E.  Bias in selecting subjects in sample
Choose the most appropriate answer from the options given below :
(I) B, CandEOnly
(2) B,CandD Only
(3) A, CandD Only
(4) C, DandEOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899351
Option 1 ID : 42558936384
Option 2 ID : 42558936385
Option 3 1D : 42558936386
Option 4 ID : 42558936387
Status : Answered
Chosen Option: 3
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Q16 Nfatch List - T with List - 11 :

List - I List -II
(Four Independent Verticals of HECI) (Major Function)
A, HEGC L Frame graduate attributes
B. GEC II.  Common Single Point Regulator
C. NAC II. Funding and Financing of Higher
Education
D. NHERC IV.  Accreditation of Institutions

Choose the correct answer from the options given below :
(1) A-IL B-1, C-1V, D-1II
(2)  A-IL B-II, C-IV, D-I
(3) A-IV, B-IIL, C-II, DI
(4) A-IL B-[ C-1V, D-II

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899358
Option 1 ID : 42558936412
Option 2 ID : 42558936413
Option 3 ID : 42558936414
Option 4 ID : 42558936415
Status : Answered
Chosen Option : 2
Q.17

Arrange the following chronologically on the basis of their launch year :
A.  Swayamprabha

B. Krishi darshan
C. Gyandarshan
D PM_eVidya

Choose the correct answer from the options given below :
1y C.,ABD

@ ACDB

(3) B, CAD

4 ABDC

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255899361
Option 1 ID : 42558936424
Option 2 ID : 42558936425
Option 3 ID : 42558936426
Option 4 ID : 42558936427

Status : Answered

Chosen Option : 3
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Q.18 pjatch List - T with List - 11 :

List- I List - II
A, Mann Whiteny L Product Moment method of correlation
B. Kendall II.  Test of homogeneity of variances
s Bartlett II. U Test
D. Karl Pearson IV. Tau Test

Choose the correct answer from the options given below :
(1) A-lI, B-1I, C-IV, D-1
(2) A-IV, B-III CI, D-I

(3) A-II, B-IV, C-11, DI

(4) A-1V, B-[, C-IIL, D-lI
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899353
Option 1 ID : 42558936392
Option 2 ID : 42558936393
Option 3 ID : 42558936394
Option 4 ID : 42558936395

Status : Answered

Chosen Option : 1

Q.19 Which of the following institutions are among Top Ten institutions in the category of research
institutions in India Ranking : 2024 released by NIRF ?

Indian Institute of Technology, Delhi

Tata Institute of Fundamental Research

Indian Institute of Technology, Kanpur

Indian Institute of Technology, Indore

Indian Institute of Technology, Madras

Choose the correct answer from the options given below :
(1) A CandD Only

(2) B,DandE Only

(3) B,CandDOnly

4) A, CandEOnly

g

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899357
Option 11D : 42558936408
Option 2 ID : 42558936409
Option 31D : 42558936410
Option 4 ID : 42558936411

Status : Answered
Chosen Option : 4
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Q.20
Choose the ‘RIGHT’ statements :
A. CISCO is a Hockey manufacturer
B. VLC is Visible Light Communication
C. SDN is System of Digital Network
D. HyperCatis an Open [SON based Catalog format
E.  SoC is Sequence of Choice
Choose the correct answer from the options given below :
(1) AandBOnly
(2) BandC Only
(3) CandE Only
(4) Band DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899381
Option 11D : 42558936504
Option 2 ID : 42558936505
Option 31D : 42558936506
Option 4 ID : 42558936507
Status : Answered
Chosen Option: 3
Q.21 Two persons A and B finish a work in 10 days. A is twice as efficient than B. How many days A will
p y y day:
take to finish the work, if he has to do it alone ?
(1) 8days
(2) 12 days
(3) 15 days
(4) 18 days
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899365
Option 1 ID : 42558936440
Option 2 ID : 42558936441
Option 3 ID : 42558936442
Option 4 ID : 42558936443
Status : Answered
Chosen Option: 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Google Play
Q22 which of the following programmes/software can be used for quantitative data analysis ?

A, MSWORD
B. MSPOWER POINT
C. MSEXCEL
D. MSACCESS
E. SPSS

Choose the most appropriate answer from the options given below :
(1) A, C DandB Only
(2)  A,DandE Only
(3) C,DandEOnly

(4) B, DandE Only

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899352
Option 1 ID : 42558936388
Option 2 ID : 42558936389
Option 3 ID : 42558936390
Option 4 ID : 42558936391

Status : Answered
Chosen Option : 3

Q.23 Mach List - T with List - I :

List -1 List- 11
(Type of Processor) (Characteristics)
A.  CISC Processors L. Operating system controls overall assignment of tasks
B.  RISC Processors I Use explicit parallelism
L EPIC Processors III.  These possess so many processing features, maki:ng
the job of machine language programmers easier
D.  Multicore Processors [V. Have a small instruction set

Choose the correct answer from the options given below :
(1)  A-IL B-1, C-IV, D-III

(2) A, B-IV, C-IIL, DI

(3) AL B-1V,C-[ D-II

(4) AL B-II, C-IV, DI

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899383
Option 1 ID : 42558936512
Option 2 ID : 42558936513
Option 3 1D : 42558936514
Option 4 ID : 42558936515

Status : Answered

Chosen Option : 1
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Q24 1y he experiment of determining better “Yoga Exercise’ out of two that can reduce the fat of urban
people of different age groups, which of the following is an intervening variable ?

(1) Area
(2) Yoga Exercise
(3) Food habit
(4) Fatof the people
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899349
Option 1 ID : 42558936376
Option 2 ID : 42558936377
Option 3 ID : 42558936378
Option 4 ID : 42558936379
Status : Answered
Chosen Option : 3
Q25 Magch List - I with List - 1 :
List-1 List- 11
A, Public Communication I Communicating with oneself
B.  Group Communication I.  face to face Communication with another person
C.  Intrapersonal Communication [II.  when many people participate in communication with
each other
D.  Interpersonal Communication IV.  one person speaking to a large number of people
Choose the correct answer from the options given below :
(1) A, B-1I, C-IV, DI
(2)  A-IV, B-1II, C-[, D-I
(3)  A-L B-II, C-I1I, D-IV
(4) A-IV,B-1, C-II, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899363
Option 1 ID : 42558936432
Option 2 ID : 42558936433
Option 3 ID : 42558936434
Option 4 ID : 42558936435
Status : Answered
Chosen Option : 2
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Q26 Match List - I with List - 11 :
List -1 List - I1
(Mental approaches) (Objectives related with)
A.  Recall L. Understanding
B. Discrimination I Knowledge
C.  Hypothesis establishment III.  Creativity
D. Evaluation IV.  Application
Choose the correct answer from the options given below :
(1) A-IL B-1V, C-1, D-III
(2) A-IL B-1, G-IV, D-I
(3)  A-IV, B-1II, C-1I, D-I
4) A-1V,B-I, C-L, D-lII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899378
Option 1 ID : 42558936492
Option 2 ID : 42558936493
Option 3 ID : 42558936494
Option 4 ID : 42558936495
Status : Answered
Chosen Option : 2
Q27 Match List- I with List - 1 :
List-1 List - IL
A.  Ad hominem L Mistaking correlation for causation
B.  Straw man Il Attacking the person instead of issue
C.  False cause [MI.  Misrepresenting someone’s argument
D. Red Herring IV. Diverting attention to another issue
Choose the correct answer from the options given below :
(1) A-IV, B-II, C-[, D-III
(2)  A-IL B-IIL, C-L D-IV
(3) A-IL B-1, C-III, DIV
(4) A, B-II, C-1, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899373
Option 1 ID : 42558936472
Option 2 ID : 42558936473
Option 3 ID : 42558936474
Option 4 ID : 42558936475
Status : Answered
Chosen Option : 1
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Q.28 (po0se the ‘RIGHT statements :

[oT term was first used by Ashton in context to supply chain management with RFID-tags
Bluetooth 4.0 is working on the frequency range of 2.4 MHz
Gyroscope is normally related to the motion sensors

IPv6 is related to the coding of vaccines protocol

GSM is global sequence of Mechanics

Choose the correct answer from the options given below :

(1) AandBOnly

(2) DandE Only

(3) AandCOnly

(4) Band D Only

2l Ol <

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899382
Option 11D : 42558936508
Option 2 ID : 42558936509
Option 31D : 42558936510
Option 4 ID : 42558936511

Status : Answered
Chosen Option: 1

Q29 g the purpose of systematically fostering the culture of innovation in all HEIs, when did ministry
of Education establish ‘Innovation Cell” ?

(1) 2016
(2) 2018
(3) 2019
(#) 2020
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899355
Option 11D : 42558936400
Option 2 ID : 42558936401
Option 3 1D : 42558936402
Option 4 ID : 42558936403
Status : Answered
Chosen Option : 2
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Q30 fallacy where the conclusion does not logically follow from the premises is called :
(1) Adhominem
(2) Straw man
(3) Non-sequitur
(4) Red herring

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899370
Option 1 ID : 42558936460
Option 2 ID : 42558936461
Option 3 ID : 42558936462
Option 4 ID : 42558936463
Status : Answered
Chosen Option : 3
Q.31

In a group of 40 people, 25 people speak Hindi and 20 people speak both Hindi and Urdu. All the
people speak atleast one of the two languages. How many people speak Urdu ?

1y 65
(2 15
() 45
@ 20
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899369
Option 1 ID : 42558936456
Option 2 ID : 42558936457
Option 3 ID : 42558936458
Option 4 ID : 42558936459

Status : Answered
Chosen Option : 3
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Which of the following are valid deductive forms of reasoning ?

Choose the most appropriate answer from the options given below :

Q.32

A.  Modus Ponens

B. Modus Tollens

C.  Hypothetical syllogism
D. Argument from analogy
(1) AandBOnly

(2) A, BandC Only

(3) A, BandD Only

(4) CandD Only

Options 1. 1

2.2

3.3

4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
4255899372
42558936468
42558936469
42558936470
42558936471
Answered

4
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933 Match List - I with List - 11 :
List- 1 List - I1
A (343)/3 — (81)/4 is equal to S
— 100
B. 1£2% x 4% x 83 = 2Vthe x is equal to I 200
(Lot — (1
(31} W is equal to . 4
D. A train moving with speed of 90 km/hour crosses a v. 23
platform of length 100 m in 12 second. The length (m)
of the train is
Choose the correct answer from the options given below :
(1) A-II, B-IV, G, D-I
(2) AL B-1V, C-1II, D-1
(3)  A-l BIIIL C-1V, D-1I
(4) A-II, B-IV, C-II, D-1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899368
Option 1 ID : 42558936452
Option 2 ID : 42558936453
Option 3 ID : 42558936454
Option 4 ID : 42558936455
Status : Answered
Chosen Option : 1
Q.34 . ) i il
A boat takes an hour to cover a certain distance downstream in a river. It takes 1.2_ hour to cover the
same distance upstream. Assuming that the speed of boat is same in both downstream and upstream
directions, what is the ratio of speed of boat to that of stream in the river ?
L 2:3
@ 5:1
() 3:2
4 5:2
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899364
Option 1 ID : 42558936436
Option 2 ID : 42558936437
Option 3 ID : 42558936438
Option 4 ID : 42558936439
Status : Answered
Chosen Option : 3
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)

@

3)

#)

Options 1. 1
2.2

3.3

4.4

Q35 Which of the following programmes of UGC is not related to promotion of value and ethical
practices ?

Jeevan Kaushal

CARE

Mulya Pravah

National Resource Centre for Value Education (NRCVE)

Option 11D
Option2 1D :
Option 31D
Option 4 ID
Status :

Chosen Option :

Question Type :
Question ID :
1 42558936396

MCQ
4255899354

42558936397

1 42558936398
: 42558936399

Answered
1

Q36 Arrange the four noble truths of Buddhism in the chronological order :

A.  Nirodha

B. Marga/Magga

C. Dukha

D Samudaya

Choose the correct answer from the options given below :
(i, B,ACD

2 CDA,B

3 DCBA

4 ACBD

Options 1. 1

2.2

3.3

4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
4255899371
42558936464
42558936465
42558936466
42558936467
Answered

2
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@37 Which of the following are required to become a good listener ?
A.  Keep quite while listening
B.  Listen with negative attitude towards the speaker
C.  Show interest in the speaker
D.  Focus on the dress and appearance of the speaker
E.  Keep your mind open to every subject and speaker
Choose the correct answer from the options given below :
(1) A,Band COnly
(2) B,Cand D Only
(3) A, CandEOnly
(4) C,DandEOnly
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899362
Option 11D : 42558936428
Option 2 ID : 42558936429
Option 3 1D : 42558936430
Option 4 ID : 42558936431

Status : Answered

Chosen Option : 3

Q.38 per Noise Pollution (Regulation and control) Act (2000), the permissible noise level (Leq) during
the day for silence zones is :

(1) 55dB(A)
(2) 50dB(A)
(3) 45 dB(A)
() 65dB(A)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899384
Option 11D : 42558936516
Option 2 ID : 42558936517
Option 31D : 42558936518
Option 4 ID : 42558936519

Status : Answered

Chosen Option : 1
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Q.39 According to Bloom's CAP Classification of Educational Objectives,
Psychomotor Domain.

(1) Organizing

(2) Application

(3) Manipulation

(4) Comprehension
Options 1. 1

2.2

3.3

4.4

is an example of

Question Type :
Question ID
Option 1 ID
Option2 1D :
Option 31D
Option 4 ID

Status :

Chosen Option :

MCQ

: 4255899374
1 42558936476

42558936477

1 42558936478
1 42558936479

Answered
1

Q40 pfaichiList- I with List-11:

Choose the correct answer from the options given below :
(1)  A-IL B-IIL C-1V, D-1

(2) A-I, B-IL, C-1, D-IV

(3)  A-IL B-1V, C-L, D-1II

(4) A-IL B-1, C-III, D-IV

Options 1. 1

2.2

3.3

4.4

List- I List - II
(Waste Disposal Method) (Characteristics)
A, Medern Landfilling L. Reduced waste volume
B.  Openland dumping II.  Well engineered and managed facility
C.  Incineration III. Ecofriendly process
D.  Bioconversion into compost IV. Low cost of dumping

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
4255899388
42558936532
42558936533
42558936534
42558936535
Answered

1
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Q41 Identify the correct statements :
Y %
A (216)7 > (169)°
B. The next term in the series 2, 7, 28, 63, 126, ....... is 217
C.  The area of equilateral triangle of side 10 cmis 25+/3
1
D. The average of the following observations —2, —1,0, +1, +2, +31is 5
Choose the correct answer from the options given below :
(1) CandDOnly
(2) B,Cand DOnly
(3) AandD Only
4) A,CandD Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899367
Option 11D : 42558936448
Option 2 ID : 42558936449
Option 3 ID : 42558936450
Option 4 ID : 42558936451

Status : Answered

Chosen Option : 1

Q.42 Some statements are given below. Mark the ‘Right’ combination :
A, Teaching is included in learning - True
B. Post active stage of teaching provides a corrective and remedial scope of teaching - False
C.  Teaching is included in learning - False
D.  Post active stage of teaching provides a corrective and remedial scope of teaching - True
Choose the correct answer from the options given below :
(1) AandD Only
(2) CandBOnly
(3) AandBOnly
4) CandDOnly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899377
Option 1 ID : 42558936488
Option 2 ID : 42558936489
Option 3 ID : 42558936490
Option 4 ID : 42558936491

Status : Answered

Chosen Option : 3
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Q43 Which of the following pertains to Clean Development Mechanism (CDM) under Kyoto Protocol ?
(1)  Getting Certified Emission Reductions (CER) credits for industrialised countries
(2)  Reducing noise pollution
(3)  Decreasing amount of chlorofloro carbons
(4) Maintaining ozone layer

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899385
Option 1 ID : 42558936520
Option 2 ID : 42558936521
Option 3 ID : 42558936522
Option 4 ID : 42558936523
Status : Answered
Chosen Option : 3
Q.44 Arrange the phases of modern approach to disaster management in order (from initial to final) :
A, Recovery
B.  Preparedness
C.  Response
D. Mitigation
Choose the correct answer from the options given below :
() CBAD
@ DBCA
3 ABCD
4 BCAD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899386
Option 1 ID : 42558936524
Option 2 ID : 42558936525
Option 3 ID : 42558936526
Option 4 ID : 42558936527
Status : Answered
Chosen Option : 4
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Q.45

PSTN stands for :

(1)  Public Service for Technical Networks
(2)  Public Switched Telephone Network
(3)  Public Satellite Television Network
(4) Public Safety Trademark Network

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899379
Option 1 ID : 42558936496
Option 2 ID : 42558936497
Option 3 ID : 42558936498
Option 4 ID : 42558936499

Status : Answered

Chosen Option : 3

Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems DfDrgﬂm-thﬂse for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens” meetings, concerthalls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 46

48 The phrase ‘Unspoilt Nature’ is in the context of

(1) Nature is not allowed to be a stumbling block in the hu_man S progress
(2)  Building cities with the system of organs like those of animals
(3) Free access to parks and open spaces
(4) Nature to retain its primitive condition

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899393
Option 11D : 42558936548
Option 2 ID : 42558936549
Option 3 ID : 42558936550
Option 4 ID : 42558936551

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 47

Q47 The antonym of the word “frustrater” used in the passage is .
(1) Promoter
(2) Approver
(3) Admirer
(4) Downer
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899394
Option 1 ID : 42558936552
Option 2 ID : 42558936553
Option 3 ID : 42558936554
Option 4 ID : 42558936555

Status : Answered

Chosen Option: 1
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 48

Q.48
What could be the most suitable title for the passage ?

(1) Towns versus Animals

(2) Theneed for planned cities

(3) Modern cities : Benefits and Shortcomings
(4) How to develop a Global city

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899391
Option 1 ID : 42558936540
Option 2 ID : 42558936541
Option 3 ID : 42558936542
Option 4 1D : 42558936543

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 49

Q.49
The word "drastic” in the passage means :
(1) Radical
(2)  Orderly
(3) Consistent
(4) Determined
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899392
Option 1 ID : 42558936544
Option 2 ID : 42558936545
Option 3 ID : 42558936546
Option 4 ID : 42558936547

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 50

Q.50
Cities can be made more worth-living if they :
(1) arevigorously planned to serve the needs of the people
(2) have only good transportation facility
(3) have many hospitals
(4) have only more cinemas and sources of entertainment
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899390
Option 11D : 42558936536
Option 2 ID : 42558936537
Option 3 ID : 42558936538
Option 4 ID : 42558936539

Status : Answered

Chosen Option : 2

Section : Economics
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Q.51 Match List-l with List-ll :
List-1 List-11
A.  Playing each strategy with probability I Nash equilibrium
B. Maximum payoff given the strategy of other 1. Grim trigger strategy
c. Long-run behavior Ill.  Best response function
D. Period of punishment is infinite IV.  Mixed strategy
Choose the correct answer from the options given below :
1. A-ll, B-l1, C-1V, D-|
2. A-l, B-IV, C-1l1, D-II
3. A-lll, B-Il, C-1V, D-|
4. A-IV, B-Ill, C-1, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899470
Option 11D : 42558936856
Option 2 ID : 42558936857
Option 3 ID : 42558936858
Option 4 ID : 42558936859
Status : Answered
Chosen Option : 4
Q.52 The null hypothesis that all slope coefficients are simultaneously equal to zero is tested in logit model by.
1. F-test
Z t-test
3. Chi-square test
4. Likelihood ratio statistics
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899421
Option 1 ID : 42558936660
Option 2 ID : 42558936661
Option 3 ID : 42558936662
Option 4 ID : 42558936663
Status : Answered
Chosen Option : 2
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Q.53  Whichofthe followings is not true ?

1. The effect of any tax can be decomposed into an income effect and substitution effect.
2. There is a substitution effect associated with a lump-sum tax, but no income effect.
3. The greater the substitution effect, the greater is the deadweight loss.
4, There is also a deadweight loss associate with the reduction in prices received by producers as a result
of imposition of tax.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899423
Option 1 ID : 42558936668
Option 2 ID : 42558936669
Option 3 ID : 42558936670
Option 4 ID : 42558936671
Status : Answered
Chosen Option : 1
Q.54 Which of the following are correct about the foreign trade policy (FTP) 2023 of India?
A. India’s FTP 2023 promotes cross border trade in digital economy.
B.  FTP 2023 emphasized on creation of E-commerce export hubs (ECEH).
C. It prohibits export and import of arms and related material from /to Irag.
D. It prohibits import of charcoal from Somalia.
E. It emphasizes strengthening trade with Democratic People’s Republic of Korea in combat aircraft,
missiles and arms related materials.
Choose the most appropriate answer from the options given below :
1. A,D&EOnly
2! D &E Only
3. AB&COnly
4. A,B,C&DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899469
Option 1 ID : 42558936852
Option 2 ID : 42558936853
Option 3 ID : 42558936854
Option 4 ID : 42558936855
Status : Answered
Chosen Option : 3
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Q.55 Which of the followings is true in case of a good i.e., “Crowded City side Walk”?

1. It is non-excludable and non-rivalry in nature.
2. It is excludable but non-rivalry in nature.
3 It is non-excludable but rivalry in nature.
4, It is excludable and rivalry in nature.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899424
Option 1 ID : 42558936672
Option 2 ID : 42558936673
Option 3 ID : 42558936674
Option 4 ID : 42558936675
Status : Answered
Chosen Option : 1
Q.56  Which of the followings are not true pertaining to Wagner’s Law of increasing state activities?
A.  Wagner’s Law is classified as positive theory of public expenditure.
B. Public sector in industrializing nations grow as a proportion of total economic activity with the increase
in per capita income and output.
(64 Proportionate increase in public sector is not constant but increasing with the increase in total
economic activity.
D.  The law accounts for the effect of war on public expenditure.
E; Public expenditure tends to grow in a stepwise manner.
Choose the most appropriate answer from the options given below :
1. AB&DOnly
2L B, C& EOnly
3. B & C Only
4. D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899460
Option 1 ID : 42558936816
Option 2 ID : 42558936817
Option 31D : 42558936818
Option 4 ID : 42558936819
Status : Answered
Chosen Option : 2
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Q57 Which of the following indicate that country “B” is capital abundant country?
A (Tota! Cﬂpital) (Total Capital)
% Total Labour Total Labour
B (Total C‘apiml) (Tomlﬂ‘apiml)
. Total Labour Total Labour
C (Price of Capiml) (Price of Capiml)
: Price of Labour Price of Labour
D (Pr{'ce of Cap:'tal) (Price of Capiml)
2 Price of Labour Price of Labour
E (Tota! Lnbour) (Price of (.‘apital)
) Total Capital Price of Labour
Choose the correct answer from the options given below :
i 8 A & B Only
2. A & COnly
3. B & D Only
4 C & EOnly
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
4255899458
42558936808
42558936809
42558936810
42558936811
Answered

4
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%% Match List-l with List-Il
List-1 List-1I
(Concepts) (Given by)
A Paradox of thrift I K. Boulding
B Water-Diamond paradox 1. A.C. Pigou
C. Wage employment paradox . J.M. Keynes
D Macroeconomic paradox IV.  Adam Smith

Choose the correct answer from the options given below :
1. A-ll, B-I, CllI, D-IV
2. A-l, B-ll, C-lII, D-IV
3. A-lll, B-IV, C-1I, D-I
4.  A-lll, B-IV, C-1, D-l

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899472
Option 1 ID : 42558936864
Option 2 ID : 42558936865
Option 3 ID : 42558936866
Option 4 ID : 42558936867

Status : Answered

Chosen Option : 1
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Q.59 Which of the followings are true pertaining to the problems of asymmetric information?
A.  Sellers can deal with the problem of asymmetric information by sending buyers signals about the
quality of product.
B. If a seller of a product has better information about its quality than buyer, then bad products tend to
drive good products out of the market.
C.  According to the efficiency wage theory, a wage lower than the competitive wage increases worker

productivity by discouraging workers from shirking on the job.
Adverse selection arises because of asymmetric information in insurance market.

E. Owners can avoid principal agent problem by designing contracts that give their agents incentive to
perform better.

Choose the correct answer from the options given below :

1z A & B Only

2. A,B&COnly
3. B,C&DOnly
4. A,B,D&EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899450
Option 11D : 42558936776
Option 2 ID : 42558936777
Option 3 ID : 42558936778
Option 4 ID : 42558936779
Status : Answered
Chosen Option : 3
Q.60 s
x
Integrate | —dx.
g f x+5

xZ
1 ?—2.ln|x+5|+c

xz
2, & 2.In|]x +5] +¢

3. x+2Imlx+5|+c
4. x—2.In|x + 5| +¢

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899412
Option 11D : 42558936624
Option 2 ID : 42558936625
Option 3 ID : 42558936626
Option 4 ID : 42558936627

Status : Answered

Chosen Option : 4
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Q.61 Arrange the following countries based on the market capitalization to nominal GDP ratio at the end of
December 2024 in ascending order (as per the Economic Survey 2024-25).

A UK
B. India
C. China
D.  Brazil
E. Japan
Choose the correct answer from the options given below :
1. BACGED
2. CD,BAE
3. D,CABE
4. ABDCE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899446
Option 11D : 42558936760
Option 2 ID : 42558936761
Option 31D : 42558936762
Option 4 ID : 42558936763
Status : Answered
Chosen Option: 2
Q62 | which of the followi ng year, the mandate/preamble of RBI has been amended?
1. 2019
2. 2024
3. 2016
4, 2007
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899426
Option 11D : 42558936680
Option 2 ID : 42558936681
Option 3 1D : 42558936682
Option 4 ID : 42558936683
Status : Answered
Chosen Option : 1
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Q.63  Which of the following statements best define property rights?

1. Property rights refer only to government ownership of land and capital.

2. Property rights are informal social rules that cannot be enforced by law.

3. Property rights are the legally enforced rights to determine how a resource is used, owned and
transferred.

4. Property rights prevent individuals from profiting from private property.

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899432
Option 1 ID : 42558936704
Option 2 ID : 42558936705
Option 3 ID : 42558936706
Option 4 ID : 42558936707
Status : Answered
Chosen Option : 4
Q.64 \Which of the following comprises the current account of the balance of payments?
A. Invisible exports and imports
B. Direct investment
C. Unilateral transfers
D.  SDR allocations
E. Borrowings from foreign countries
Choose the correct answer from the options given below :
1. A & EOnly
2. C & EOnly
3. A & COnly
4 A & B Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899459
Option 1 ID : 42558936812
Option 2 ID : 42558936813
Option 3 ID : 42558936814
Option 4 ID : 42558936815
Status : Answered
Chosen Option : 1
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Q.65 According to Rostow, any industry can play the role of leading sector in the take-off stage provided following
conditions are met.

A.  The market for the product is expanding rapidly

B.  Theleading sector generates secondary expansion

C.  Thesector has an adequate and continual supply of capital from ploughed-back profits.
D. Introduction of new techniques into the sector to increase productivity

E Changes in industrial structure should be structural ones

Choose the most appropriate answer from the options given below :
1. B,CD&EOnly
2. A D&EOnly
3. A C&DOnly
4.  A,B,C&DOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899465
Option 11D : 42558936836
Option 2 ID : 42558936837
Option 31D : 42558936838
Option 4 ID : 42558936839

Status : Answered

Chosen Option : 3

Q66 Match List-1 with List-1l :

List-l List-ll
A.  Inverted “U” hypothesis L Herman Daly
B.  Sustainable development 1. Garrett Hardin
C. Ecological Economics I1l.  Simon Kuznets
D.  Tragedy of the commons IV.  Gro Harlen Brundtland

Choose the correct answer from the options given below :
1. A-lV, B-ll, C-lll, D-l
2. A-lll, B-l, C-IV, D-II
3. A-lll, B-IV, C-I, D-II
4.  A-lll, B-IV, C-1l, D-I

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899483
Option 11D : 42558936908
Option 2 ID : 42558936909
Option 3 ID : 42558936910
Option 4 ID : 42558936911

Status : Answered

Chosen Option : 2
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Q.67 | exicographic preference violates which of the following axioms of utility theory?
i Transitivity Axiom
2 Convexity Axiom
3. Continuity Axiom
4, Independence Axiom

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899433
Option 1 ID : 42558936708
Option 2 ID : 42558936709
Option 3 ID : 42558936710
Option 4 ID : 42558936711

Status : Answered

Chosen Option : 2

Q.68 According to Lucas Critique.

1: It assumes monetary policy not to be neutral with respect to real variables.
2 Drifting coefficients can make macro econometric models more reliable.
3. Keynesian models correctly consider the impact of policies on future expectations.
4 The stability of coefficients of models are important for policy predictions.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899428
Option 11D : 42558936688
Option 2 ID : 42558936689
Option 3 ID : 42558936690
Option 4 ID : 42558936691

Status : Answered

Chosen Option : 4
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Q.69 GivenU = (x +2)(y + 1) and P, = 4 and P, = 6 and budget (B) =130. Find the optimum levels of purchase
ofx"and y".
1. &r=8L Fr=16
2. wi=1h y"=28
3. =18 . 9"=8
4. x*=16, y' =11
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899413
Option 11D : 42558936628
Option 2 ID : 42558936629
Option 3 ID : 42558936630
Option 4 ID : 42558936631
Status : Answered
Chosen Option : 3
Q.70 ; : :
Bootstra PPINE tech nique is use to
1 Tests for specification bias
F b Obtain the sampling distribution of parameters of interest
3. Test for autocorrelation
4, Test for normality of error term
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899403
Option 1 ID : 42558936588
Option 2 ID : 42558936589
Option 3 ID : 42558936590
Option 4 ID : 42558936591
Status : Answered
Chosen Option : 1
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Q.71 which of the followings statements correctly describe the concept of efficiency in environmental economics?
A. Al allocation is pareto efficient if no one can be made better off without making someone else worse
off.
B. Efficiency ensures a fair and equitable distribution of resources among all individuals.
(64 Market allocations are efficient only in the absence of market failures such as externalities.
D.  Efficiency is a normative concept concerned with what should be done based on societal value.
E: Environmental policies that internalize externalities can improve efficiency.
Choose the most appropriate answer from the options given below :
1.  A,B&DOnly
2. AB&EOnly
3. A CREOnly
4. B, C&D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899466
Option 1 ID : 42558936840
Option 2 ID : 42558936841
Option 3 ID : 42558936842
Option 4 ID : 42558936843
Status : Answered
Chosen Option : 2
Q.72 The management of a manufacturing firm wishes to determine the average time required to complete a
certain manual operation. There should be 0.95 confidence that error in the estimate will not exceed 2
minutes. What sample size is estimated by a time and motion study expert as 16 minutes?
1. 96
2. 300
3. 255
4, 246
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899406
Option 1 ID : 42558936600
Option 2 ID : 42558936601
Option 3 ID : 42558936602
Option 4 ID : 42558936603
Status : Answered
Chosen Option : 2
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Q.73 Arrange the following works of J. M. Keynes in chronological order (Starting from the oldest to latest).
A. A Treatise on Money

B. General Theory of Employment, Interest and Money
G Indian Currency and Finance

D. A Monetary Theory of Production

E A Tract on Monetary Reform

Choose the correct answer from the options given below :
L E,C,A DB

2. C,EADB
3. C,EABD
4. A,C,EBD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899441
Option 1 ID : 42558936740
Option 2 ID : 42558936741
Option 3 ID : 42558936742
Option 4 ID : 42558936743
Status : Answered
Chosen Option: 3
Q.74 Arrange the following rates in ascending order, as decided in 54™ meeting of monetary policy committee of
RBI.
A.  Marginal Standing Facility Rate
B. Standing Deposit Facility Rate
et CRR
D. Reverse Repo Rate
E. Repo Rate
Choose the correct answer from the options given below :
1. C,D,AB,E
2L B,C, D, AE
2 D,CB,EA
4. C,D,EB,A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899442
Option 11D : 42558936744
Option 2 ID : 42558936745
Option 3 ID : 42558936746
Option 4 ID : 42558936747
Status : Answered
Chosen Option : 1
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economy?
A. Increase in income by multiplier times government expenditure.
B.  Shiftin IS curve to the right leading to disequilibrium in money market at given level of interest rate.
g Quantity of money demand will be higher.
D. Interest rate will decrease.
E. Private investment will increase leading to increase in aggregate demand.
Choose the correct answer from the options given below :
1. B,C&DOnly
2. C,D&EOnly
3. AB&COnly
4. B,D&EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899454
Option 1 ID : 42558936792
Option 2 ID : 42558936793
Option 3 ID : 42558936794
Option 4 ID : 42558936795
Status : Answered
Chosen Option : 4
Q.76 Match List-1 with List-ll :
List-1 List-1l
(renewable energy sources) (% of total energy production as on Nov 2024 as per Economic
Survey 2024-25)
A.  Solar energy I 10.50%
B. Hydro energy Il 20.60%
g Nuclear energy n.  10.30%
D.  Wind energy V. 1.80%
Choose the correct answer from the options given below :
1. A-ll, B-lll, C-IV, D-l
2. A-lll, B-l, C-IV, D-II
3. Al B-lll, C-l, D-IV
4. A-ll, Bl G-I, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899484
Option 1 ID : 42558936912
Option 2 ID : 42558936913
Option 3 ID : 42558936914
Option 4 ID : 42558936915
Status : Answered
Chosen Option : 2
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Q.77 Which of the followings are true regarding the outcome of a consumer’s optimization process.
A.  The marginal utility per rupee spent on each good is the same.
The marginal rate of substitution between goods is equal to the ratio of the prices between the goods.
The consumer reaches the highest indifference curve in the indifference map.
The consumer indifference curve is tangent to hisfher budget line.
From utility point of view, consumer is indifferent between any two points on his/her budget line.
Choose the correct answer from the options given below :
1. A C&EOnly
2. A, D &EOnly
3. AB&DOnly
4 A,B,D&E Only

moow®

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899452
Option 1 ID : 42558936784
Option 2 ID : 42558936785
Option 3 ID : 42558936786
Option 4 ID : 42558936787

Status : Answered

Chosen Option : 4

Q.78 Which of the following conditions are required for the set of consumers to exhibit parallel, straight wealth
expansion paths at any price vector P?

A.  Preferences admit indirect utility function of the Gorman form.

B. Preferences are heterogeneous

g Wealth is equally distributed among all consumers.

D.  All consumers have identical preferences that are homothetic.

E.  All consumers have preferences that are quasilinear with respect to the same good.

Choose the correct answer from the options given below :
1. A,B&COnly
2. A D&EOnly
3. B,C&DOnly
4 A,B & D Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899451
Option 1 ID : 42558936780
Option 2 ID : 42558936781
Option 3 ID : 42558936782
Option 4 ID : 42558936783

Status : Answered

Chosen Option : 1
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Q.79  Arrange the following derivative markets in India in chronological order (starting from oldest to latest).
A. Commencement of trading in options on individual securities
B. Introduction of interest rate futures
G Commencement of trading in Stock Futures
D. Introduction of Futures trading based on the Index
E. Commencement of trading in Index options
Choose the correct answer from the options given below :
2 % D,C,EAB
Z D,E,ACB
3 D,AEB,C
4. D,CERBA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899440
Option 1 ID : 42558936736
Option 2 ID : 42558936737
Option 3 ID : 42558936738
Option 4 ID : 42558936739
Status : Answered
Chosen Option : 4
Q.80 Which of the fallowings are true in case of externality?
A. In case of externality, all costs and benefits associated with the goods are not internalized by
households and firms involved in buying and productions.
B.  Presence of externality results either under production or over production of the good.
g Market based decision making yields an efficient outcome in the presence of externality.
D.  In case of negative externality, the marginal social cost is higher than marginal cost.
E. Well defined property right can solve the problem of externality.
Choose the most appropriate answer from the options given below :
1. A, B, &DOnly
2. B,D&EOnly
Fy A,B,D&EOnly
4. B,CD&EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899461
Option 11D : 42558936820
Option 2 ID : 42558936821
Option 3 ID : 42558936822
Option 4 ID : 42558936823
Status : Answered
Chosen Option : 2
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Q81 Match List-l with List-1l :

List-l List-11
A.  PB.for Chi-square distribution I (n-2)
B.  Skewness for Chi-square distribution Il 48n+12n*
C. Mode for Chi-square distribution . (12/n)+3
D.  pafor Chi-square distribution IV. 2/n
Choose the correct answer from the options given below :
1. A-IV, B-lll, C-lI, D-l
2. A-lll, B-ll, C-1V, D-l
3. A-ll, B-l, C-IV, D-1Il
4.  A-lll, B-IV, C-1, D-lI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899473
Option 1 ID : 42558936868
Option 2 ID : 42558936869
Option 3 ID : 42558936870
Option 4 ID : 42558936871
Status : Answered
Chosen Option : 1
Q.82 If the marginal propensity to consume is 0.8 and initial increase in tax revenues by the government is Rs. 100,
then the impact on national income would be:
iFS National Income will increase by Rs. 100
2 National Income will increase by Rs. 500
3. National Income will decrease by Rs. 400
4, National Income will decrease by Rs. 100
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899425
Option 11D : 42558936676
Option 2 ID : 42558936677
Option 3 ID : 42558936678
Option 4 ID : 42558936679
Status : Answered
Chosen Option : 2
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Q.83 The Stolper-Samuelson theorem postulates that :

1, An increase in the relative price of a commodity raises the earnings of the factor used intensively in
the production of the commodity.
2. Anincreasein the relative price of a commodity decreases the earnings of the factor used intensively
in the production of the commodity.
3; An increase in the relative price of a commodity raises the earnings of the factor used scarcely in the
production of the commaodity.
4. A decrease in the relative price of a commodity raises the earnings of the factor used intensively in the
production of the commodity.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899418
Option 1 ID : 42558936648
Option 2 ID : 42558936649
Option 3 ID : 42558936650
Option 4 ID : 42558936651
Status : Answered
Chosen Option : 1
Q.84 Which of following are not an assumptions of policy ineffectiveness propositions?
A.  Rational expectation
B. Policy changes are not anticipated
C. Economic agents have full information
D.  Nominal variables influence economic decision
E. Output and employment are at their natural level
Choose the most appropriate answer from the options given below :
1.  B&DOnly
2. A,C&DOnly
3. A, B, D&E Only
4 C,D&EDOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899463
Option 11D : 42558936828
Option 2 ID : 42558936829
Option 3 ID : 42558936830
Option 4 ID : 42558936831
Status : Answered
Chosen Option : 4
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Q.85 Which of the following is the operating target of monetary policy conducted by RBI?
1. Repo rate
Reverse Repo rate

2
3. Weighted Average Call Money rate
4 Marginal Standing Facility rate

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899434
Option 11D : 42558936712
Option 2 ID : 42558936713
Option 31D : 42558936714
Option 4 ID : 42558936715

Status : Answered

Chosen Option : 1

Q.86 Match List-1 with List-Il :

List-1 List1
A.  Specificfactors model i, Prebisch-Singer hypothesis
B. Immiserizing growth 1. Thomas Mun
2 Mercantilism theory of international trade Ill.  Jagdish Bhagwati
D.  Secular deterioration of terms of trade IV.  Paul Samuelson and Ronald Jones

Choose the correct answer from the options given below :
1. A-lll, B-IV, C-lI, DAl

2. A-IV, B-lll, C-1l, D-I

3. A-IV, B-II, C-1lI, D-I

4. A-ll, B-IV, C-1, D-1II
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899476
Option 11D : 42558936880
Option 2 ID : 42558936881
Option 3 1D : 42558936882
Option 4 ID : 42558936883

Status : Answered

Chosen Option : 4
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Q.87 Arrange the following Chairman of Finance Commission in order of their appointment starting from the

oldest.

A. A. M. Khusro

B.  C.Rangarajan

g N. K. P. Salve

D.  K.Bramhananda Reddy
E K.C. Pant

Choose the correct answer from the options given below :
1. ACEDB

2. CEAD,B
e B,0,E,C A
4. D,CEAB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899438
Option 1 ID : 42558936728
Option 2 ID : 42558936729
Option 3 ID : 42558936730
Option 4 ID : 42558936731
Status : Answered
Chosen Option : 1
Q.88 Arrange the following sectors in descending order as per their share in total FDI in India in H1 FY 2025 as per
the Economic Survey 2024-25.
A.  Automobile Industry
B. Hospital and Diagnostic Centers
e Cement and Gypsum Products
D.  Computer Software and Hardware
E. Non-conventional Energy
Choose the correct answer from the options given below :
1. D,E,C,A,B
2. D,CEBA
e E.B,A,D,C
4. E,D,C,B,A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899447
Option 1 ID : 42558936764
Option 2 ID : 42558936765
Option 3 ID : 42558936766
Option 4 ID : 42558936767
Status : Answered
Chosen Option : 2
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Q.89 Match List-l with List-Il :
List-1 List-1l
(Concepts) (their expression) (where, g,=manufacturing output growth,
Esor=GDP growth, P.,=productivity in outside manufacturing,
P.=Productivity in manufacturing)

A.  Kaldor’s first law of growth I Pr=flgm) f'>0
B.  Kaldor's second law of growth . y=—e(uu)

C.  Kaldor’s third law of growth . geos=f(gm) f'>0
D.  Okun'slaw V.  Pum=flgm) >0

Choose the correct answer from the options given below :
1. A-IV, B-lil, C-I, D-1I

2. A-lll, B-IV, G-I, D-Il

3. Al B, C-IV, DIl

4. AV, B-lIl, C-1I, DI
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899481
Option 11D : 42558936900
Option 2 ID : 42558936901
Option 3 ID : 42558936902
Option 4 ID : 42558936903

Status : Answered

Chosen Option : 3

Q.90 The idea of constructing poverty-weighted indices of growth is.
1. To give at least equal weight to all income groups in society.
2t To achieve high growth rate.
3. Tofacilitate foreign trade on equal basis.
4, To assign more value or weight on income group of richest population and no weight on lower-
income group.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899430
Option 11D : 42558936696
Option 2 ID : 42558936697
Option 31D : 42558936698
Option 4 ID : 42558936699

Status : Answered

Chosen Option : 1
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Q.91 Which of the following are correct about the revised criteria of MSMEs effective from 01 April 2025 as per
union budget 2025-26?
A.  An enterprise is classified as micro enterprise if investment in plant and machinery does not exceed
Rs. 2.5 crore.
A medium enterprise is one whose turnover does not exceed Rs. 50 crore.
A small enterprise has investment limit up to Rs. 10 crore
A micro enterprise is one whose turnover is up to Rs. 10 crore.

moo®

A small enterprise has turnover limit up to Rs. 100 crore.
Choose the most appropriate answer from the options given below :
1. B, C&DOnly

2. A,D&EOnly
3. AB&EOnly
4. C,D&EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899468
Option 1 ID : 42558936848
Option 2 ID : 42558936849
Option 3 ID : 42558936850
Option 4 ID : 42558936851
Status : Answered
Chosen Option : 2
Q.92 Arrange the following tax reform committees on the basis of their year of constitution starting from the
oldest.
A.  Raja Chelliah tax reform committee
B. T. R. Rastogi Committee on Service tax reforms
C.  Vijay Kelkar committee on tax reforms
D.  Parthasarathi Shome committee on direct tax
E. K. L. Rekhi committee on indirect tax
Choose the correct answer from the options given below :
1. AECBD
2. EACBD
3. AGEDCB
4 D,E,ACB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899437
Option 11D : 42558936724
Option 2 ID : 42558936725
Option 3 ID : 42558936726
Option 4 ID : 42558936727
Status : Answered
Chosen Option : 3
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Q.93 Match List-1 with List-Il :

List-1 List-1l
Income elasticity greater than one I Substitute goods
Positive cross price elasticity I Inferior goods

Downward sloping price consumption curve (PCC) .
Negative income effect IV.
Choose the correct answer from the options given below :

1. A-lV, B-ll, G-I, D-lII

2. A, B-ll, G-, D-IV

3. A-IV, B-II, C-ll, D-I
4

Luxurious goods
Relative elasticdemand

on e

A-lll, B-l, C-1V, D-lI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899471
Option 1 ID : 42558936860
Option 2 ID : 42558936861
Option 3 ID : 42558936862
Option 4 ID : 42558936863
Status : Answered
Chosen Option : 4
Q.94 If the income effect is in the opposite direction as the substitution effect, but the substitution effect
dominates, then the good is
1. Normal
2. Inferior but not giffen
3. Giffen
4. There is not enough information to answer
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899396
Option 1 ID : 42558936560
Option 2 ID : 42558936561
Option 3 ID : 42558936562
Option 4 ID : 42558936563
Status : Answered
Chosen Option : 2
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Q.95 Arrange the expenditure allocation to following items, as % of total union government expenditure as per
the union budget 2025-26 in ascending order.

A.  Finance Commission and Other Transfers

B.  Interest Payment

e Pensions

D.  Major Subsidies

E Central Sector Schemes (excluding capital outlay on defense and subsidies)

Choose the correct answer from the options given below :
1. ADJECB

2. CDAEB
3. ECDAB
4. CDEBA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899449
Option 1 ID : 42558936772
Option 2 ID : 42558936773
Option 3 ID : 42558936774
Option 4 ID : 42558936775
Status : Answered
Chosen Option : 2
Q.96 2 9 ;
If U = 6x° + y*, and 4x — y = 1. What is the value of U?
4
1. =
15
2_ i,
11
3_ g
16
4
4. i
21
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899411
Option 1 ID : 42558936620
Option 2 ID : 42558936621
Option 3 ID : 42558936622
Option 4 ID : 42558936623
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.97 Match List-1 with List-Il :

List-1 List-ll
(Items of receipts) (Share to total receipt in % as per union budget 2025-26)
A, Income tax I 4%
B. Custom Il. 5%
C. Corporation tax . 22%
D.  Union excise V. 17%

Choose the correct answer from the options given below :
1. A-IV, B-ll, C-lIl, DAl
2. A-lll, B-l, C-lI, DIV
3. AL, B, G-IV, D-II
4. A-IV, B-II, C-1, DN

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899479
Option 11D : 42558936892
Option 2 ID : 42558936893
Option 3 ID : 42558936894
Option 4 ID : 42558936895
Status : Answered
Chosen Option : 1
Q.98  |n the context of neaclassical growth madel, the effects of an increase in population growth rate is/are.
A.  Reduction in steady-state level of capital per head
B. Increase in per capita output
C. Increase in steady state rate of growth of aggregate output
D. Decrease in capital-output ratio
E: An inward shift in production possibility curve.
Choose the most appropriate answer from the options given below :
1. A B&COnly
2. B,C, D &EOnly
3. A & COnly
4. C,D&EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899464
Option 11D : 42558936832
Option 2 ID : 42558936833
Option 3 ID : 42558936834
Option 4 ID : 42558936835
Status : Answered
Chosen Option : 3
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Q.99 Match List-l with List-ll :

List-1 List-Il
A. Income induced adjustment process of balance of payments I Paul Samuelson
B.  Absorption approach of BoPs I Keynes, ..M.
63 Impossible trinity Ill.  Sidney S. Alexander
D.  Factor price equalization theorem V. Mundell-Fleming

Choose the correct answer from the options given below :
1. A-l, B-ll, ClII, D-IV
2. A-ll, B-lll, G-IV, D-|
3. A-ll, B-llI, G-I, D-IV
4. A-ll, B-l, C-lIl, D-IV
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899477
Option 1 ID : 42558936884
Option 2 ID : 42558936885
Option 31D : 42558936886
Option 4 ID : 42558936887

Status : Answered

Chosen Option : 2

Q100 The indirect least square is applied to estimate the coefficient of the :
i Structural equation
2. Over identified equation
3. Reduced form equation
4, Under identified equation
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255899405
Option 11D : 42558936596
Option 2 ID : 42558936597
Option 3 1D : 42558936598
Option 4 ID : 42558936599

Status : Answered

Chosen Option : 2
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Q101 \Which of the followings are true about New Classical approach.

A. The main protagonist was R.E. Lucas Jr.
B. It is based on adaptive expectation.
. It was developed during 1950s.
D.  Complete wage and price flexibility.
E. Difference between actual and expected price is a random error.
Choose the most appropriate answer from the options given below :
1. A,B&EOnly
2. A,D & EOnly
3. B, C, D & E Only
4 A, B &DDOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899462
Option 11D : 42558936824
Option 2 ID : 42558936825
Option 3 ID : 42558936826
Option 4 ID : 42558936827
Status : Answered
Chosen Option : 3
Q.102 if the value of Keynesian investment multiplier is 4, which one of the following will be the corresponding
saving function?
1.  §=-4+04Y,
24 5§ =-10+ 0.75Y,
3. §=-12+40.25Y,
4 S =-6+035Y;,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899400
Option 11D : 42558936576
Option 2 ID : 42558936577
Option 3 ID : 42558936578
Option 4 ID : 42558936579
Status : Answered
Chosen Option : 2
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Q.103 Which of the following correctly state the formula to compute the rate of effective protection?
Where, g=the rate of effective protection to producers of final commodities, t=the nominal tariff rate on
consumers of the final commodity, ti=the nominal tariff rate on the imported input and ai=the ratio of the
cost of the imported input to the price of the final commodity in the absence of tariffs.

» t=a;t;
1. g 71_511
_ by
L 5
- t—a;t;
3 & 1+a;
_ thaghy
4. & 1+a;
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899419
Option 1 ID : 42558936652
Option 2 ID : 42558936653
Option 3 ID : 42558936654
Option 4 ID : 42558936655
Status : Answered
Chosen Option : 1
Q.104 Fxi 3 3 . B
X is a poisson variate with mean A, then P(x+1) is :
A
1. —P(x
x+1 ( ]
A
2. o
x
x+1
3. /—P@)
A
x
4. = P(x)
A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899407
Option 1 ID : 42558936604
Option 2 ID : 42558936605
Option 3 ID : 42558936606
Option 4 ID : 42558936607
Status : Answered
Chosen Option : 1
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Q.105 Match List-1 with List-Il :

List-1 List-11
A.  The mean of a Hypergeometric distribution 1. %
B.  The moment generating function of negative binomial distribution II. (Q —pPe’) ™
C.  The coefficient of Kurtosis of a binomial distribution 1. %
D.  The variance of geometric distribution V. 1;:?

Choose the correct answer from the options given below :
1. A-ll, B-lll, C-I, D-IV
2. A-lll, B-ll, G-IV, D-l
3. A-l, B-llI, G-IV, D-II
4. A-ll, B-l, C-llI, D-IV

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899474
Option 1 1D : 42558936872
Option 2 ID : 42558936873
Option 3 ID : 42558936874
Option 4 ID : 42558936875
Status : Answered
Chosen Option : 2
Q.106

Assume that the rate of investment is described by the function I(£) = 12t/ and capital stock k(0)=25. Find
the time path of capital stock k.
1. 1643+ 25

2. 9t 425

3. —9t*/3 425

4. —16t*? 425
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899416
Option 1 ID : 42558936640
Option 2 ID : 42558936641
Option 3 ID : 42558936642
Option 4 ID : 42558936643

Status : Answered

Chosen Option : 4
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Q.107 Which of the following is not true according to classical’s views on public debt?

1. Public debt financing requires funds for interest payment and amortization, hence a double burden on
tax payers.

2. Public debt financing supports compensatory budget policy as a tool for stimulating aggregate
demand.

3y Public debt creates barren production and consumption and burden is transferred to future
generation.

4. Public debt destroys capital which otherwise could be used productively

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899422
Option 1 ID : 42558936664
Option 2 ID : 42558936665
Option 3 ID : 42558936666
Option 4 ID : 42558936667
Status : Answered
Chosen Option : 2
Q.108 A candidate is selected for interview for three posts. For the first post, there are 3 candidates, for the second
4 candidates and for the third 2 candidates. What is the probability that the candidate is selected for at least
one post ?
1
L3
1
- 3
3
B
1
¥ @
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899408
Option 1 ID : 42558936608
Option 2 ID : 42558936609
Option 3 ID : 42558936610
Option 4 ID : 42558936611
Status : Answered
Chosen Option : 3
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Q.109 Which of the following causes a positive output gap, where, output gap=Actual output - Potential output ?
1. Population growth
2 Technological progress
3. Overemployment of factors of production
4. Under utilization of resources

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899401
Option 1 ID : 42558936580
Option 2 ID : 42558936581
Option 3 ID : 42558936582
Option 4 ID : 42558936583
Status : Answered
Chosen Option : 2
Q.110 f @ = f(K,L) is a homogeneous production function of degree one, which of the following satisfies Euler’s
theorem?
aQ 29N _
1 (=g
9q 9y, _
2 (R)r+(EDr=e
aQ aQ
3 (Hr+(PHr>1
20 90y _
& G-
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899395
Option 1 ID : 42558936556
Option 2 ID : 42558936557
Option 3 ID : 42558936558
Option 4 ID : 42558936559
Status : Answered
Chosen Option : 3
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Q.111  According to classical economics, an increase in government deficit spending leads to.
A. a shift in the demand for loanable fund to the right

B. decline in interest rate

G increase in investment

D. increase in saving equal to decline in consumption

E decrease in investment and consumption that balances the increase in government spending.

Choose the correct answer from the options given below :
1.  A,B&DOnly

2. A,D&EOnly
3. A, B, C&D Only
4. C,D&EOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899453
Option 11D : 42558936788
Option 2 ID : 42558936789
Option 3 ID : 42558936790
Option 4 ID : 42558936791

Status : Answered

Chosen Option : 4
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Q.112
Player 2
Bl L R
ayer
: e L5 |03
M 2,6 1,4
B 3,7 2,2
Which of the following statements are true about the above payoff matrix?
A. Player-1 has two strictly dominated strategies.
B. None of the strategies of player-2 are weakly dominated.
C.  Strategy T weakly dominates strategy B.
D. Strategy M of Player-1 will never be used in Nash-equilibrium.
E. Strategy M strictly dominates strategy T.
Choose the correct answer from the options given below :
1 19 A, B, C&EOnly
2. A,D &EOnly
3. B, C& D Only
4 C,D&EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899457
Option 11D : 42558936804
Option 2 ID : 42558936805
Option 3 ID : 42558936806
Option 4 ID : 42558936807
Status : Answered
Chosen Option : 1
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Q.113 Arrange the following items on the basis of the expenditure allocation made in the union budget 2025-26 in
descending order.

A.  Agriculture and Allied activities
B. Education

C.  Defense

D.  Commerce and Industry

E Rural Development

Choose the correct answer from the options given below :
1. ECGCADB

2. CEABD
e C,AE DB
4. AECBD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899439
Option 1 ID : 42558936732
Option 2 ID : 42558936733
Option 3 ID : 42558936734
Option 4 ID : 42558936735
Status : Answered
Chosen Option : 3
Q.114 A company has examined its costs and revenue structure and has determined that C-total cost, R-the total
revenue and X-the number of units produced are related as :
€ =100+0.015%? andR = 3X
Find the product level X that will maximize profit for this company.
i1 120
2. 80
3. 150
4. 100
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899417
Option 1 ID : 42558936644
Option 2 ID : 42558936645
Option 3 ID : 42558936646
Option 4 ID : 42558936647
Status : Answered
Chosen Option : 4
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Q1S o 32,y = 38, the regression coefficients by, = —0.2337, b, = —0.6643. Find the equation of the line
of regression of y on x.
1. y = —0.2337x + 40.8806
2. y = —0.2337x — 40.8806
3. y = —0.6643x — 59.2576
4.

y = —0.6643x + 59.2576

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899410
Option 1 ID : 42558936616
Option 2 ID : 42558936617
Option 3 ID : 42558936618
Option 4 ID : 42558936619
Status : Answered
Chosen Option : 3
Q.116 |n the context of IS-LM model, a higher marginal propensity to spend results in :
1. A flatter aggregate demand curve and consequently a steeper IS curve
2 A steeper aggregate demand curve and consequently a flatter IS curve
3. Increase in aggregate demand and a rightward shift of the IS curve
4 Increase in demand for real balances
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899402
Option 1 ID : 42558936584
Option 2 ID : 42558936585
Option 3 ID : 42558936586
Option 4 ID : 42558936587
Status : Answered
Chosen Option : 2
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Q.117 In the product cycle model of International trade, in which stage the imitating country starts underselling the
innovating country in third markets?

i Stage-ll
2 Stage-Ill
3. Stage-IV
4, Stage-V
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899420
Option 1 ID : 42558936656
Option 2 ID : 42558936657
Option 31D : 42558936658
Option 4 ID : 42558936659
Status : Answered
Chosen Option : 2
Q.118 Match List-l with List-ll :
List-1 List-1l
(Criteria of 15™ finance commission) (Weights as per the recommendation of 15th finance
commission for horizontal devolution)
A. Income distance I 15%
B. Population 1. 12.5%
C.  Demographic performance . 45%
D.  Forest and Ecology V.  10%
Choose the correct answer from the options given below :
1. A-lll, B-IV, C-I, D-l
2. A-ll, B-l, C-ll, D-IV
3. A-lll, B-l, C-ll, D-IV
4. A-l, B-IV, C-11, D-1II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899478
Option 11D : 42558936888
Option 2 ID : 42558936889
Option 31D : 42558936890
Option 4 ID : 42558936891
Status : Answered
Chosen Option : 1
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Q119 | the context of classical economics, an increase in money supply causes.

1. Ashift in aggregate demand curve to the left
2. A shift in aggregate demand curve to the right
3. A shift in aggregate supply curve to the right
4 No change in aggregate demand and aggregate supply, only price increases
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899399
Option 1 ID : 42558936572
Option 2 ID : 42558936573
Option 3 ID : 42558936574
Option 4 ID : 42558936575
Status : Answered
Chosen Option : 2
Q.120 if both input and output markets are competitive and firms are profit maximizing, then in equilibrium each
factor of production earns:
i1 An amount equal to the price of output times total output.
2. The amount allocated by political process
3. An equal share of output.
4. The value of its marginal product.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899397
Option 11D : 42558936564
Option 2 ID : 42558936565
Option 3 ID : 42558936566
Option 4 ID : 42558936567
Status : Answered
Chosen Option : 4
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Q121 Arrange the following environmental conventions/summits in sequence starting from the oldest.
A.  Kyoto Protocol
B. Minamata Convention
& Stockholm Convention
D. UN-REDD
E. Rio Summit
Choose the correct answer from the options given below :
1. E,ACDB
2. ECABD
3. C,ELA DB
4 A, B, CDE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899444
Option 1 ID : 42558936752
Option 2 ID : 42558936753
Option 3 ID : 42558936754
Option 4 ID : 42558936755
Status : Answered
Chosen Option: 2
Q.122  Arrange the following publications in chronological order starting from the oldest to the latest.
A.  “Theory of Economic Growth” by Arthur Lewis
B.  “AContribution to the Theory of Economic Growth” by Robert Solow
C.  “The Stages of Economic Growth: A Non Communist Manifesto” by Walt Rostow
D.  “Asian Drama: An Inquiry into the Poverty of Nations” by Gunnar Myrdal
E. “Strategy of Economic Development” by Albert Hirschman
Choose the correct answer from the options given below :
1 £ AE B, CD
2. EB,CDA
3. C,D,B,EA
4. ABECD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899443
Option 1 ID : 42558936748
Option 2 ID : 42558936749
Option 3 ID : 42558936750
Option 4 ID : 42558936751
Status : Answered
Chosen Option : 3
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Q123 patch List-l with List-Il :

List-1 List-11
(Monetary policy regime) (Periods)
A. Fiscal dominance L 2016 onwards
B. Multiple indicator approach Il 1951-1985
€. Monetary targeting with feedbacks . 1998-2016
D. Flexible inflation targeting V.  1985-1998

Choose the correct answer from the options given below :
1. A-lll, B-IV, C-lI, D-l
2. A, B-llI, C-IV, D-l
3. A-ll, B-l, C-IV, D=1
4.  A-IV, B-lll, C-1, D-II
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255899480
Option 11D : 42558936896
Option 2 ID : 42558936897
Option 3 1D : 42558936898
Option 4 ID : 42558936899

Status : Answered

Chosen Option : 1

Q.124  Which of the following is likely to lead to a rise in the output cost of disinflation?
1. Inflation expectations become more accurate.
2 Sluggish response of wages and prices to monetary contraction.
3. Gradual policy response.
4 Rational expectations.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899427
Option 11D : 42558936684
Option 2 ID : 42558936685
Option 3 ID : 42558936686
Option 4 ID : 42558936687

Status : Answered

Chosen Option : 2
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Q.125 Arrange the following countries in descending order based on their current account balance as a percent of
GDP in the period Q2 FY 25 as per the Economic Survey 2024-25.

A. India

B. Russia

g China

D. U. K.

E South Africa

Choose the correct answer from the options given below :
1. D,ABCGE

2. B,GCAD,E
3. C,BAED
4, KNEGEBD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899448
Option 11D : 42558936768
Option 2 ID : 42558936769
Option 3 ID : 42558936770
Option 4 1D : 42558936771
Status : Answered
Chosen Option: 2
Q.126 ; R ; ;
Arrange the following crisis in chronological order (starting from oldest).
A. OPEC Oil Crisis
B. International Debt Crisis
i East Asian Financial Crisis
D. Argentinian Economic Crisis
E. Eurozone Crisis
Choose the correct answer from the options given below :
i A,B,C DE
2. A,B,CED
3. A,B,EC,D
4. AE,B,CD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899435
Option 11D : 42558936716
Option 2 ID : 42558936717
Option 3 ID : 42558936718
Option 4 ID : 42558936719
Status : Answered
Chosen Option : 3
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Q127 \Which of the followings are correct in case of Normal distribution?
A. s for Normal distribution is 0.
B. B2 for Normal distribution is 0.

C. Mean deviation (about mean) for Normal distribution is %a

D.  pafor Normal distribution is 2¢*

g t2g2
oo " r ¥ 5 . t——
E: Characteristic function for Normal distribution is e 2
Choose the correct answer from the options given below :
1. AC&EOnly
2. A, B, C&EOnly
3. B,C&DOnly
4. A, C&DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899455
Option 1 ID : 42558936796
Option 2 ID : 42558936797
Option 3 ID : 42558936798
Option 4 ID : 42558936799
Status : Answered
Chosen Option : 2
Q.128 Arrange the following union government deficits as percentage of GDP for the year 2023-24 in ascending
order as per union budget 2025-26.
A. Fiscal deficit
B. Effective Revenue deficit
g Primary deficit
D. Current Account deficit
E. Revenue deficit
Choose the correct answer from the options given below :
. D,B,ACE
2. D,ABCE
3. D,BCEA
4. D,C,B,EA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899445
Option 1 ID : 42558936756
Option 2 ID : 42558936757
Option 3 ID : 42558936758
Option 4 ID : 42558936759
Status : Answered
Chosen Option : 3
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1
2.
3
4,

Options 1. 1
2.2
3.3
4.4

BoS Game
Stag Hunt Game

Matching Pennies Game

Prisoner’s Dilemma

Q129 \Which of the following game does not have any Nash Equilibrium?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
4255899398
42558936568
42558936569
42558936570
42558936571
Answered

1

o0 @

1.
2.
3:
4

Options 1. 1
2.2
3.3
4.4

Q.130 Match List-1 with List-Il :

List-1

Theory of population growth and resource limits
Demographic transition theory

Father of demography
Coined the term “third World”

Choose the correct answer from the options given below :

A-lll, B-IV, C-1, D-1I
A-lll, B-IV, C-II, D-I
A-lI, B-ll, C-IV, D-I
A-IV, B-Ill, C-1, D-II

List-1l

Alfred Sauvy

John Graunt
Warren Thompson
Thomas Malthus

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
4255899482
42558936904
42558936905
42558936906
42558936907
Answered

2
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A Millennium Round of Trade negotiations
B.  Doha Round

G: Uruguay Round

D.  Kennedy Round

E. Tokyo Round

Choose the correct answer from the options given below :

1. D,E,C,B A

Q131 Arrange the following rounds in chronological order (starting from oldest).

2. D,E B, CA
3. D,B,ECA
4 D,E,C,A B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899436
Option 1 ID : 42558936720
Option 2 ID : 42558936721
Option 3 ID : 42558936722
Option 4 ID : 42558936723
Status : Answered
Chosen Option : 4
Q.132 By using the uniqueness property of moment generating function (M.G.F.), which of the followings are
correct distribution if M.G.F. is as follows?
A, M@= G + %e‘)ﬁ is a poisson distribution.
B. M(t) = -(Hg—zr)s is a binomial distribution.
(3 M(t) = e3(¢*-1) is poisson distribution
D.  M(t) =e(e=1)/* is poisson distribution
E. M) =4(3e™ —1)7? is binomial distribution
Choose the correct answer from the options given below :
1. A,B,C&D Only
2. B, C&DOnly
3. B,C,D&EOnly
4. AB,CD&E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899456
Option 11D : 42558936800
Option 2 ID : 42558936801
Option 3 ID : 42558936802
Option 4 ID : 42558936803
Status : Answered
Chosen Option : 4
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Q.133 The data about the sales and advertisement expenditure of a firm is given below:

Sales Advertisement expenditure
(In crore of Rs.) (In crore of Rs.)
Mean 40 6
Standard deviation 10 15

Coefficient of correlation=r=0.9
Estimate the likely sales for the proposed advertisement of Rs. 10 crore of rupees.
1. Rs. 60 crore

2. Rs. 64 crore
3 Rs. 70 crore
4. Rs. 74 crore
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899409
Option 11D : 42558936612
Option 2 ID : 42558936613
Option 3 1D : 42558936614
Option 4 ID : 42558936615

Status : Answered

Chosen Option: 3

Q134 According to neoclassical growth theory, an increase in saving rate.
) Raises the growth rate of output in the short run.
2. Increases long run growth rate of output.
3. Deceases the steady-state capital-labor ratio.
4, Decreases the long-run level of capital and output per head.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255899429
Option 11D : 42558936692
Option 2 ID : 42558936693
Option 3 ID : 42558936694
Option 4 ID : 42558936695

Status : Answered

Chosen Option : 1
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Q135 If the demand law is: P = +/9 — x and the demand is fixed at xp = 5. Find the consumer’s surplus.
1. 2
2 =
8
o=
a 2
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899414
Option 1 ID : 42558936632
Option 2 ID : 42558936633
Option 3 ID : 42558936634
Option 4 ID : 42558936635
Status : Answered
Chosen Option : 1
Q.136 Which of the following is not correct about Harrod-Domar model of economic growth?
1. The natural rate of growth is made up of growth of labor force and labor productivity.
2 If actual growth (g) is greater than warranted rate of growth (g..), g can continue to diverge from g,
only until it hits natural growth rate (g,).
3. g can be greater than g, in the long-run.
4. Full employment of labor and capital require g=g..=g»
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899431
Option 1 ID : 42558936700
Option 2 ID : 42558936701
Option 3 ID : 42558936702
Option 4 ID : 42558936703
Status : Answered
Chosen Option : 4
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Q.137 5
Evaluate fi e dx:
b R e
1
2. ==
3. %[e_z —e™™
1..-2 —4
4, ; (E-' +e )
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899415
Option 1 ID : 42558936636
Option 2 ID : 42558936637
Option 3 ID : 42558936638
Option 4 ID : 42558936639

Status : Answered

Chosen Option : 2

Q.138 According to Coase theorem, which of the following are possible outcomes of assigning property rights?
A.  The polluter pays the victim to continue polluting.

B.  The victim pays the polluter to reduce pollution.

C.  The government must set pollution taxes to ensure efficiency.

D. Market outcomes can achieve efficiency even if externalities exist.
E The polluter and victim always have equal bargaining power.

Choose the most appropriate answer from the options given below :
1. A B&COnly

2. AB&DOnly

3. B,C&DOnly

4. C,DR&EOnly

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255899467
Option 11D : 42558936844
Option 2 ID : 42558936845
Option 3 ID : 42558936846
Option 4 ID : 42558936847

Status : Answered

Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON

Google Play

Q.139 According to Granger and Newbold, a good rule of thumb to suspect that the estimated regression is spurious
is given by :
1. High R? with low t-value (R*>t)
2 High t values with low Durbin-Watson d value (t>d)
3 High R? and low Durbin-Watson d value (R*>d)
4. High R?and low F value (R*>F)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899404
Option 11D : 42558936592
Option 2 ID : 42558936593
Option 3 ID : 42558936594
Option 4 ID : 42558936595
Status : Answered
Chosen Option: 3
9140 Match List-1 with List-Il :
List-I List-ll
oo 1
A. dx l. does not exist
fﬂ 1+x2 oE
B. [“=dx o 1/3
1 x
—1 1
€ [Lu=oix . m/2
+oo0 1
D. | —dx V. =
-0 i4x
Choose the correct answer from the options given below :
1.  A-l, B-ll, C-IV, D-1lIl
2. A-IV, B-l, C-II, D-1N
3. A-lll, B-l, C-ll, D-IV
4.  A-ll, B-lll, C-1V, D-|
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255899475
Option 1 ID : 42558936876
Option 2 ID : 42558936877
Option 3 1D : 42558936878
Option 4 ID : 42558936879
Status : Answered
Chosen Option : 4
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Comprehension:

Based on the information given below, answer the questions :
Two fair dice are thrown independently. Three events A, B, and C are defined as follows;

A 5 odd face with first dice
B : odd face with second dice
c 3 sum of points on two dice is odd

SubQuestion No : 141

Q.141 i
Find the P(ANBNC).
i 8 0
2. A8
3. 1/4
4.  1/6
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status:
Chosen Option :

McQ

: 4255899490
1 42558936932
1 42558936933

42558936934

: 42558936935

Answered
2
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Comprehension:

Based on the information given below, answer the questions :

Two fair dice are thrown independently. Three events A, B, and C are defined as follows;
A 3 odd face with first dice

B : odd face with second dice

c 3 sum of points on two dice is odd

SubQuestion No : 142

Q142
Find the P(BNC).
Y. H6
2. 0
3. 1/4
4.  1/36
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

McQ

: 4255899489
1 42558936928
1 42558936929

42558936930

1 42558936931

Answered
3
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Comprehension:

Based on the information given below, answer the questions :
Two fair dice are thrown independently. Three events A, B, and C are defined as follows;

A 5 odd face with first dice
B : odd face with second dice
C 3 sum of points on two dice is odd

SubQuestion No : 143

Q.143 _,
Find the P(ANC).
i 8 0
2. A8
3. 1/6
4.  1/4
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ

: 4255899488
1 42558936924
: 42558936925

42558936926
42558936927
Answered

4
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Comprehension:

Based on the information given below, answer the questions :
Two fair dice are thrown independently. Three events A, B, and C are defined as follows;

A 5 odd face with first dice
B : odd face with second dice
C 3 sum of points on two dice is odd

SubQuestion No : 144

Q.144 _,
Find the P(ANB).
i 8 0
2.  3/4
3. 7/12
4.  1/4
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status:
Chosen Option :

McQ

: 4255899487
1 42558936920
: 42558936921

42558936922

1 42558936923

Answered
2
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Comprehension:

Based on the information given below, answer the questions :
Two fair dice are thrown independently. Three events A, B, and C are defined as follows;

A 5 odd face with first dice
B : odd face with second dice
C 3 sum of points on two dice is odd

SubQuestion No : 145
2145 Find the P(C).

1.  1/4
2. 1/2
3. 3/4
4, 5/6
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
4255899486
42558936916
42558936917
42558936918
42558936919
Answered

3
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Comprehension:

Read the following paragraph and answer the questions :

The RBI's current monetary policy reflects a nuanced response to evolving macroeconomic dynamics. While
the repo rate remains unchanged at 6.5%, the policy undertone reveals a calibrated withdrawal of
accommodation, signaling a shift from pandemic era stimulus. The RBI's liquidity management has
transitioned from passive surplus absorption to active fine tuning using variable rate reverse repo (VRRR)
operations, amid concerns of global spillovers and domestic inflationary pressures. The policy indicates a
forward looking stance, focusing on anchoring inflation expectations rather than reacting to transient price
shocks. The monetary transmission remains uneven, with sectoral divergences in credit uptake and lending
rates. Furthermore the policy indirectly emphasizes macro prudential regulation and financial stability,
acknowledging risks from global interest rate differentials, capital flows and currency volatility. This reflects
an integrated policy framework balancing inflation targeting with broader financial resilience in a globally
uncertain environment.

SubQuestion No : 146

Q.146 Which of the following reflects the RBI's strategy in managing transient inflation shocks?
1. Immediate rate hike
2. Maintaining status quo with calibrated liquidity tools
3. Aggressive tightening
4,

Reducing CRR

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
4255899492
42558936936
42558936937
42558936938
42558936939
Answered

3
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Comprehension:

Read the following paragraph and answer the questions :

The RBI's current monetary policy reflects a nuanced response to evolving macroeconomic dynamics. While
the repo rate remains unchanged at 6.5%, the policy undertone reveals a calibrated withdrawal of
accommodation, signaling a shift from pandemic era stimulus. The RBI's liquidity management has
transitioned from passive surplus absorption to active fine tuning using variable rate reverse repo (VRRR)
operations, amid concerns of global spillovers and domestic inflationary pressures. The policy indicates a
forward looking stance, focusing on anchoring inflation expectations rather than reacting to transient price
shocks. The monetary transmission remains uneven, with sectoral divergences in credit uptake and lending
rates. Furthermore the policy indirectly emphasizes macro prudential regulation and financial stability,
acknowledging risks from global interest rate differentials, capital flows and currency volatility. This reflects
an integrated policy framework balancing inflation targeting with broader financial resilience in a globally
uncertain environment.

SubQuestion No : 147

Q147" The RBI's consideration of global interest rate differentials primarily relates to.

1, Domestic food inflation

2. Foreign portfolio flows and exchange rate management
3. Retail credit growth

4, Agricultural policy

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255899496
Option 1 ID : 42558936952
Option 2 ID : 42558936953
Option 3 ID : 42558936954
Option 4 ID : 42558936955

Status : Answered

Chosen Option : 2
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Q.148
2 &
2.
3.
4,
Options 1. 1
2.2

3.3
4.4

Comprehension:

Read the following paragraph and answer the questions :

SubQuestion No : 148

VRRR operations indicate.

Long term capital infusion

Structural adjustment of fiscal deficit
Active short term liquidity absorption
Decrease in SLR

The RBI's current monetary policy reflects a nuanced response to evolving macroeconomic dynamics. While
the repo rate remains unchanged at 6.5%, the policy undertone reveals a calibrated withdrawal of
accommodation, signaling a shift from pandemic era stimulus. The RBI's liquidity management has
transitioned from passive surplus absorption to active fine tuning using variable rate reverse repo (VRRR)
operations, amid concerns of global spillovers and domestic inflationary pressures. The policy indicates a
forward looking stance, focusing on anchoring inflation expectations rather than reacting to transient price
shocks. The monetary transmission remains uneven, with sectoral divergences in credit uptake and lending
rates. Furthermore the policy indirectly emphasizes macro prudential regulation and financial stability,
acknowledging risks from global interest rate differentials, capital flows and currency volatility. This reflects
an integrated policy framework balancing inflation targeting with broader financial resilience in a globally
uncertain environment.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
4255899494
42558936944
42558936945
42558936946
42558936947
Answered

3
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i 9
2.
3.
4.

Options 1. 1
2.2
3.3
4.4

Comprehension:

Read the following paragraph and answer the questions :

The RBI's current monetary policy reflects a nuanced response to evolving macroeconomic dynamics. While
the repo rate remains unchanged at 6.5%, the policy undertone reveals a calibrated withdrawal of
accommodation, signaling a shift from pandemic era stimulus. The RBI's liquidity management has
transitioned from passive surplus absorption to active fine tuning using variable rate reverse repo (VRRR)
operations, amid concerns of global spillovers and domestic inflationary pressures. The policy indicates a
forward looking stance, focusing on anchoring inflation expectations rather than reacting to transient price
shocks. The monetary transmission remains uneven, with sectoral divergences in credit uptake and lending
rates. Furthermore the policy indirectly emphasizes macro prudential regulation and financial stability,
acknowledging risks from global interest rate differentials, capital flows and currency volatility. This reflects
an integrated policy framework balancing inflation targeting with broader financial resilience in a globally
uncertain environment.

SubQuestion No : 149

Q149 \yhich concept is implicit in RBI's focus on anchoring inflation without immediate rate action?

Passive targeting
Expectation management
Credit rationing
Monetary expansion

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
4255899495
42558936948
42558936949
42558936950
42558936951
Answered

1
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Comprehension:

Read the following paragraph and answer the questions :

uncertain environment.

SubQuestion No : 150

The RBI's current monetary policy reflects a nuanced response to evolving macroeconomic dynamics. While
the repo rate remains unchanged at 6.5%, the policy undertone reveals a calibrated withdrawal of
accommodation, signaling a shift from pandemic era stimulus. The RBI's liquidity management has
transitioned from passive surplus absorption to active fine tuning using variable rate reverse repo (VRRR)
operations, amid concerns of global spillovers and domestic inflationary pressures. The policy indicates a
forward looking stance, focusing on anchoring inflation expectations rather than reacting to transient price
shocks. The monetary transmission remains uneven, with sectoral divergences in credit uptake and lending
rates. Furthermore the policy indirectly emphasizes macro prudential regulation and financial stability,
acknowledging risks from global interest rate differentials, capital flows and currency volatility. This reflects
an integrated policy framework balancing inflation targeting with broader financial resilience in a globally

150 ; — o
? The term withdrawal accommodation in monetary policy implies.
i X Increase in CRR
2. Active bond purchase
3. Gradual normalization of policy stance
4. Expansionary fiscal stimulus
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
4255899493
42558936940
42558936941
42558936942
42558936943
Answered

4
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